
PR Received dated 12 SEP 2016 - 18 Sep 2016 Offices Supplies & Consumble Parts Post Dated 19 Sep 2016

Serial PR No.
Document 

Date
Item Code PR Line Description PR Qty Unit Buyer

Buyer 

site
EMAIL ADDRESS PR Status

RFQ Closing 

Dated

1 11608028 14-Sep-2016 CONZZ29227
SPACER  ID. 31mm.  OD. 53mm.  T. 5mm. FOR BOLT DIFFERENTIAL OF 

FANTUZZI
40.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

2 11607533 16-Sep-2016 CONZZ29492 WATER GUARD WR DWG.NO.RSH 2004/06 2.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

3 11608037 16-Sep-2016 CONZZ29755
BUSH ROLL 101x135x61.5 MM FOR PEELER BLADE COB MAT C86300 

(DWG.360211 REV.A)
4.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

4 11608038 16-Sep-2016 CONZZ29756 BUSH FRAME POS.L (360211-L) FOR PEELER BLADE COB (REV.C) 2.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

5 11608040 16-Sep-2016 CONZZ29919
FLANGE LOCK PIN ADJUST GAP WRAPPER ROLL DC#1,2 (DWG.003848 

REV.C)
6.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

6 11607542 16-Sep-2016 CONZZ31633 WATER GUARD WR RM BOTTOM H=150 DWG.RSH2012/03 2.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

7 11607543 16-Sep-2016 CONZZ31720 WATER GUARD WR RM TOP H=150 DWG.RSH 2014/03 2.00 Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 26-Sep-2016

8 11608208 16-Sep-2016 STA1000068 RIBON CARTRIDGE NO.7753  FOR PRINTER EPSON 300 2.00 Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 26-Sep-2016

9 11607859 16-Sep-2016 CONZZ08176 INSULATED TERMINAL SPADE (Y) YF 1.25-4 700.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

10 11607969 16-Sep-2016 CONZZ08913 FLUORESCENT LAMP 32 WATT 220V (CIRCLE) 6.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

11 11607970 16-Sep-2016 CONZZ08925 LAMP METAL HALIDE 220V 400W HPI-T400 , E40 (CYLINDER) 10.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

12 11607971 16-Sep-2016 CONZZ08943 LAMP 130V.1-2 W.         BA9S 10X28 mm. 100.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

13 11608165 16-Sep-2016 CONZZ09701 CONDUIT OT 1"            WITH COVER 3.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

14 11607968 16-Sep-2016 CONZZ10055 RAIN TIGHT FLEXIBLE      CONDUIT 1 1/2" (GRAY) 15.00 Metres THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

15 11607926 16-Sep-2016 CONZZ28402 COPPER CRIMP LUGS TYPE CL 120-12 (120 SQMM x M12) 80.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

16 11608162 16-Sep-2016 CONZZ28446 RAIN TIGHT FLEXIBLE      CONNECTOR 1" 20.00 Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 26-Sep-2016

17 11608185 16-Sep-2016 CONAZ05296 WIRE ROPE SLINGS WITH SOFT EYE DIA.22x6000 MM 2.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 26-Sep-2016

18 11608087 14-Sep-2016 CONZZ20604 WHITE METAL LGSN80 (5Kg/EA) 100.00 Kilograms JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 26-Sep-2016

19 11607935 16-Sep-2016 CONZZ22478 WIRE ROPE SLING (SPECIAL) DIA.12 x 1070 MM. (DWG.003337) 2.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 26-Sep-2016

20 11608186 16-Sep-2016 CONZZ31401
WIRE ROPE SLINGS DIA.20x15000 MM WITH STANDARD EYE AND SWAGED 

STEEL BUTTONS
1.00 Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 26-Sep-2016

21 11608181 14-Sep-2016 CONAZ06353 GRINDING WHEELS TYPE 27 SPEC A 24 R DIA.100x16x4 mm. (SSM) 300.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

22 11608123 16-Sep-2016 CONZZ05939 ABRASIVE PAPER #320      (WATER PROOF) 100.00 PIECES CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

23 11607629 12-Sep-2016 CONZZ06133 CONTACT CLEANER (RED) SPAY 16.00 PIECES CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

24 11607632 14-Sep-2016 CONZZ06400 ABRASIVE COATED NO.80    DIA.100x16 mm.(DISK COAT) 50.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

25 11608171 16-Sep-2016 CONZZ06425 "SONAX" MOS 2 OIL NO.301 41.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

26 11608134 16-Sep-2016 CONZZ06436 ENAMEL PAINT GREEN #605  (3.5 LT.) 23.00 GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

27 11607867 14-Sep-2016 CONZZ06448 ENAMEL PAINT WHITE #101  (3.500 LT.) 24.00 GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

28 11607868 16-Sep-2016 CONZZ06451 ENAMEL PAINT YELLOW #303 (3.5 LT.) 12.00 GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

29 11608019 14-Sep-2016 CONZZ06453 SPRAY PAINT BLACK # A 210(NET CONTENT 400 CC.) 6.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

30 11608018 14-Sep-2016 CONZZ06460 SPRAY PAINT YELLOW #A 241(NET CONTENT 400 CC.) 8.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

31 11608126 14-Sep-2016 CONZZ06463 GRINDING WHEELS TYPE 27 SPEC A24 R SIZE 100x2x16 mm. "SSM" 450.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

32 11608127 14-Sep-2016 CONZZ06471 GRINDING WHEELS TYPE 27 SPEC A C 60 SIZE 180x2x22 mm. "SSM" 150.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

Page 1 of 5



PR Received dated 12 SEP 2016 - 18 Sep 2016 Offices Supplies & Consumble Parts Post Dated 19 Sep 2016

Serial PR No.
Document 

Date
Item Code PR Line Description PR Qty Unit Buyer

Buyer 

site
EMAIL ADDRESS PR Status

RFQ Closing 

Dated

33 11607853 14-Sep-2016 CONZZ06481 PAPER GASKET   THICKNESS 0.8 MM FOR VEHICLE 20.00 Feet CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

34 11607633 12-Sep-2016 CONZZ06486 SILICONE SEALANT L6301 "SONY" COLOR:CLEAR 61.00 TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

35 11608291 16-Sep-2016 CONZZ06499 WELDING ELECTRODE"GEMINI"AWSE7016 DIA.3.2 MM LD52 50.00 Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

36 11608129 14-Sep-2016 CONZZ06505 WELDING ELECTRODE DIA.2.6AWSE 308 L-16"GEMINI" 50.00 Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

37 11607634 14-Sep-2016 CONZZ06700 TEFLON (10M X 12MM)      (THAI PIPE JORE-TEX) 60.00 Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

38 11607860 16-Sep-2016 CONZZ08177 INSULATED TERMINAL SPADE (Y) YF 2-4 100.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

39 11608128 14-Sep-2016 CONZZ08594 CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 180x2x22 MM. "SSM" 100.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

40 11607972 16-Sep-2016 CONZZ09162 ABRASIVE PAPER #150      (WATER PROOF) 100.00 SHEET CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

41 11607962 12-Sep-2016 CONZZ11793 TINNER AAA (3.785LT) 100.00 GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

42 11608118 14-Sep-2016 CONZZ13979 UNI PAINT MARKER (PX-20) WHITE 12.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

43 11607430 16-Sep-2016 CONZZ14173 BRONZE WIRE BRUSH 5 1/2" LENGH WOOD HANDLE 27.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

44 11607956 16-Sep-2016 CONZZ14383 COPPER CRIMP LUG TYPE.CL 35-12(อยา่งหนา) 100.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

45 11607676 14-Sep-2016 CONZZ14695 GRINDING WHEELS TYPE 27 SPEC A 24 R SIZE 180x6x22 MM "SSM" 150.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

46 11607955 16-Sep-2016 CONZZ14715 LIQUID CLEANER (400 ml.) "น ้ายาลา้งเล็บ" 10.00 Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

47 11607948 14-Sep-2016 CONZZ18521 PLUG MOD.PH-30 DIA. 3/8" (HOSE) 20.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

48 11608023 14-Sep-2016 CONZZ28980 THINNER NO.31  (ผสมส ี  EPOGUARD) TOA 22.00 GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

49 11608086 14-Sep-2016 CONZZ31729 GRINDING WHEEL TYPE 6 DIA.180x80x78 MM. 3.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

50 11607814 16-Sep-2016 CONZZ31913 เทปวัดสายโลหะชนดิยาว STANLEY 15 M 6.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

51 11607823 13-Sep-2016 STA4000919 เหล็กตอกตวัเลข 0-9       รุน่ M240 2.00 Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

52 11608198 13-Sep-2016 STA4001156 ตู ้ MANUAL HOSE BOX      ขนาด 55x65x20 ซม 2.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

53 11607813 16-Sep-2016 STA4006510 ตลับเมตร ยาว 5 เมตร 6.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

54 11608064 14-Sep-2016 STA4006742 ไฟฉายสอ่งทางไกล BLACK BEAR รุน่ 840 ชนดิชารท์ไฟได ้ 5.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 26-Sep-2016

55 11607080 16-Sep-2016 CONAZ31211 ขอ้ตอ่ลม QUICK COUPLER 40PH +40SH (ตวัผู ้ + ตวัเมยี) 2.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

56 11607681 14-Sep-2016 CONZZ09296 BATTERY 12V-150AH P/N.2010.834501 FOR FANTUZZI 4.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

57 11607960 14-Sep-2016 CONZZ14172 BELLOW FOR STEERING DWG.002570  FOR FANTUZZI 2.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

58 11606119 14-Sep-2016 CONZZ18155
SWITCH ON-OFF 24V/30W (TYPE SCREW NUT CONNECT)  FOR ELECTRIC 

SYSTEM FANTUZZI
5.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

59 11607667 16-Sep-2016 CONZZ21893 UNION F/F CARB.DIA.1-1/2"11G ( 002708 ) 35.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

60 11607928 14-Sep-2016 CONZZ24532 ASBESTOS SHEET L50"x50"  T=1.5 mm  FOR VEHICLE 1.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

61 11607439 14-Sep-2016 CONZZ30235
REPAIR KIT BOOSTER-CLUTCH P/N 30900-99728 ชดุซอ่มแมป๊ั่มคลัทซ ์ USE FOR

 BRAKE SYSTEM NISSAN UD CWM 430
1.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

62 11607807 16-Sep-2016 CONZZ30840
FLEXIBLE HOSE (สายเครือ่งฉีดน ้าแรงดนัสงู 10 M) CODE 226-30885 FOR ARTIC 

MAX220T
2.00 Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 26-Sep-2016

63 11608334 16-Sep-2016 CONAZ00003 COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17ผนื (25 KGS./BAG) 700.00 Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

64 11608290 16-Sep-2016 CONZZ05925 OXYGEN PURITY 99.5% (ถังตอ้งม ี วัน,เดอืน,ปี ทดสอบ ครัง้สดุทา้ย ไมเ่กนิ 5 ปี) 59.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

Page 2 of 5



PR Received dated 12 SEP 2016 - 18 Sep 2016 Offices Supplies & Consumble Parts Post Dated 19 Sep 2016

Serial PR No.
Document 

Date
Item Code PR Line Description PR Qty Unit Buyer

Buyer 

site
EMAIL ADDRESS PR Status

RFQ Closing 

Dated

65 11607829 16-Sep-2016 CONZZ19029 กาวทาเท็ก (กระป๋องใหญ)่ 6.00 Can PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

66 11608258 16-Sep-2016 STA1000507 กระดาษ 150.00 Ream PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

67 11608258 16-Sep-2016 STA1000552 กระดาษ A3 500 EA/Ream 30.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

68 11608209 14-Sep-2016 STA2000004 NAME CARD                พมิพ ์ แบบ 2 สี 100.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

69 11608099 13-Sep-2016 STA9999999 รองเทา้บูท๊ ยีห่อ้ คนด า 6.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 26-Sep-2016

70 11608284 16-Sep-2016 STA1000485 แฟ้ม 3" 6.00 PACKAGE PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 26-Sep-2016

71 11608284 16-Sep-2016 STA1000486 ปากกาน ้าเงนิ 100.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 26-Sep-2016

72 11608284 16-Sep-2016 STA1000489 ดนิสอ  HB ยีห่อ้ ตรามา้ 2.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 26-Sep-2016

73 11608284 16-Sep-2016 STA1000502 ลกูแมกซ์ 48.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 26-Sep-2016

74 11608284 16-Sep-2016 STA2000682 เครือ่งคดิเลขแบบพกพา     ขนาดเล็ก 5.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 26-Sep-2016

75 11607861 16-Sep-2016 CONAZ06782 BOLT&NUT HEX.HEAD M10-1.5x80 (STAINLESS) FOR MOTOR ROT 100.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

76 11607011 14-Sep-2016 CONZZ04957 SOCKET HEAD CAP SCREW    M20-2.5x55 mm. FOR VEHICLE 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

77 11607851 16-Sep-2016 CONZZ05755 NUT HEX.HEAD (CLASS 8.8) M27-P.=3 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

78 11608125 16-Sep-2016 CONZZ06182 CONDUIT IMC 1" 20.00 PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

79 11607852 14-Sep-2016 CONZZ06466 BOLT HEX.HEAD&NUTS   M27x110 MM. FOR VEHICLE 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

80 11608256 16-Sep-2016 CONZZ06590 BALL VALVE 2 1/2"#BRASS  WP.400 PSI.(END THREADED) 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

81 11607624 16-Sep-2016 CONZZ06745 FLAT WASHER              M10 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

82 11607858 16-Sep-2016 CONZZ06745 FLAT WASHER              M10 25.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

83 11607625 14-Sep-2016 CONZZ06762 BOLT&NUT HEX.HEAD        M6-1x20 mm.(CLASS 8.8) 60.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

84 11607854 14-Sep-2016 CONZZ06768 BOLT&NUT HEX HEAD        M6-1x80 mm.#CLASS 8.8 15.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

85 11607855 16-Sep-2016 CONZZ06770 BOLT&NUT HEX.HEAD        M8-1.25x30 mm.(CLASS 8.8) 40.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

86 11607856 14-Sep-2016 CONZZ06778
BOLT&NUT HEX.HEAD M10-1.5x40 mm.(CLASS 8.8) FOR  FANTUZZI NO.12-

15
70.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

87 11607857 16-Sep-2016 CONZZ06782 BOLT&NUT HEX.HEAD        M10-1.5x80 mm.#CLASS 8.8 25.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

88 11607864 16-Sep-2016 CONZZ06787 BOLT HEX.HEAD (CLASS 8.8) M12-1.75x50 mm. 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

89 11606802 14-Sep-2016 CONZZ08073 SOCKET HEAD CAP SCREW    M5-0.8x20 mm. 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

90 11607865 14-Sep-2016 CONZZ08079 SOCKET HEAD CAP SCREW    M6-1.0x40 mm. FOR VEHICLE 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

91 11605278 14-Sep-2016 CONZZ08094 SOCKET HEAD CAP SCREW    M10-1.5x50 mm. FOR VEHICLE 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

92 11607866 16-Sep-2016 CONZZ08142 SPRING WASHER  M10 (MAT.STEEL BLACK) FOR VEHICLE 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

93 11608065 14-Sep-2016 CONZZ08588 H-BEAM(STEEL)JIS G3192   DIM.100x100x8 mm.L=6MT 3.00 PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

94 11607967 16-Sep-2016 CONZZ10236 BOLT HEX.HEAD+NUT+SPRING WASHER M27-3x280 mm. (CLASS 8.8) 24.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

95 11607680 16-Sep-2016 CONZZ10238 BOLT HEX.HEAD M24-2x160 mm.( END THA=50 MM ) CLASS 10.9 15.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

96 11607963 16-Sep-2016 CONZZ11652 HACK SAW BLADE"ECLIPSE"  10 TPI 350-25-1.25 25.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

Page 3 of 5



PR Received dated 12 SEP 2016 - 18 Sep 2016 Offices Supplies & Consumble Parts Post Dated 19 Sep 2016

Serial PR No.
Document 

Date
Item Code PR Line Description PR Qty Unit Buyer

Buyer 

site
EMAIL ADDRESS PR Status

RFQ Closing 

Dated

97 11607961 16-Sep-2016 CONZZ12841
BOLT HEX.HEAD & NUT(GAL.) M8-1.25x30 mm.& FLAT WASSER + SPRING 

WASHER
120.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

98 11607521 14-Sep-2016 CONZZ14172 BELLOW FOR STEERING DWG.002570  FOR FANTUZZI 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

99 11607674 16-Sep-2016 CONZZ14840 O-RING CORD NBR 70 SH.A DIA.6 MM 100.00 Metres SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

100 11607954 16-Sep-2016 CONZZ14890 ANCHORS SCREW PLASTIC #M7(EXPANSION BOLT PLASTIC) 160.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

101 11607953 14-Sep-2016 CONZZ15029 BOLT HEX.HEAD(CLASS 10.9)1/2""-13UNCx1 1/4""LG FOR VEHICLE 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

102 11607952 16-Sep-2016 CONZZ15141 BOLT&NUT HEX.(STAINLESS) M12-1.75x60 mm.(END THREAD 30 mm.) 70.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

103 11607951 16-Sep-2016 CONZZ16878 FLAT WASHER M10 (STAINLESS) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

104 11608163 16-Sep-2016 CONZZ19483 SOCKET HEAD CAP SCREW#12.9 M16-2x55mm DRILL HEAD 3 mm. 146.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

105 11607946 16-Sep-2016 CONZZ20008 BOLT HEX.HEAD (CLASS 8.8)M20-2.5x90 MM. 180.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

106 11607945 14-Sep-2016 CONZZ20199
LOW HEAD SOCKET CAP SCREW M27-3x65 MM.(CLASS 8.8)(LOW HEAD = 21 

MM.) FULL THREAD
40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

107 11608191 14-Sep-2016 CONZZ20218 NIPPLE CARB.STEEL        DIA.1/2" 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

108 11607944 16-Sep-2016 CONZZ20333 BOLT HEX.HEAD (CLASS 8.8)M20-2.5x190 MM. (DRILL HEAD = 3) 72.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

109 11607943 16-Sep-2016 CONZZ20476 BOLT HEX.HEAD (STAINLESS)M12-1.75x45 mm. 38.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

110 11607942 16-Sep-2016 CONZZ20737 SOCKET HEAD CAP SCREW    M12-1.75x50mm.(STAINLESS) 80.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

111 11607941 16-Sep-2016 CONZZ20941 BOLT,NUT,SPRING WASHER   M8-1.25x35 mm.(STAINLESS) 150.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

112 11607940 16-Sep-2016 CONZZ21023 BOLT,NUT,WASHER,SPRING  WASHER M12x1.75x30(STAINLESS) 50.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

113 11607672 16-Sep-2016 CONZZ21112 SOCKET SET SCREW         M24-3x25MM.MAT.STAINLESS 32.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

114 11607939 14-Sep-2016 CONZZ21239 COPPER GASKET          ID=95,OD=165,TH.=4.5 MM. 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

115 11608065 14-Sep-2016 CONZZ21546 H-BEAM(STEEL)JIS G3192   DIM.175x175x7.5x11mm.xL=6 3.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

116 11607938 16-Sep-2016 CONZZ21628 EXPANSION BOLT M10x70 MM 75.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

117 11607670 16-Sep-2016 CONZZ21783 TIE-ROD (CLASS#10.9) G05710 POS.21 (S87827rev.a) COMP. WITH NUT 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

118 11607671 16-Sep-2016 CONZZ21784 NUT M48x5 MAT.SCM440H DWG.G05710 POS.80 (S87828) 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

119 11607668 16-Sep-2016 CONZZ21894 UNION F/F CARB DIA.2" -11G (002709 ) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

120 11607669 16-Sep-2016 CONZZ21895 UNION F/F CARB DIA.2 1/2"-11G( 002710 ) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

121 11607937 16-Sep-2016 CONZZ22054 BOLT HEX.HEAD            M10-1.5x30MM STAINLESS 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

122 11607936 16-Sep-2016 CONZZ22361 SOCKET HEAD CAP SCREW    M27-3.0x220 MM #CLASS 8.8 39.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

123 11608271 16-Sep-2016 CONZZ22799 H-BEAM(STEEL)JIS G3192   DIM.200x200x8x12MM L=6 MT 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

124 11607932 16-Sep-2016 CONZZ22889 BOLT HEX.HEAD&NUT+WASHER M10x1.5x100 STAINLESS 100.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

125 11607931 16-Sep-2016 CONZZ23304 EXTERNAL RETAINING RING  DIA.220 MM 3.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

126 11607930 14-Sep-2016 CONZZ23821 BOLT P/N 8H-5772 (1"x 8G L=3 3/4") FOR KRESS 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

127 11608216 16-Sep-2016 CONZZ25687 REDUCE FOR UPVC          CONDUIT 1/2"-3/4" 20.00 PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

128 11607927 14-Sep-2016 CONZZ26356 SEAL CR#7920 TYPE#CRW1R DIA.20x36x7 mm. FOR PREFLEX ROLL 8.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

Page 4 of 5



PR Received dated 12 SEP 2016 - 18 Sep 2016 Offices Supplies & Consumble Parts Post Dated 19 Sep 2016

Serial PR No.
Document 

Date
Item Code PR Line Description PR Qty Unit Buyer

Buyer 

site
EMAIL ADDRESS PR Status

RFQ Closing 

Dated

129 11607664 16-Sep-2016 CONZZ28498
SOCKET HEAD CAP SCREW SPECIAL M16-2x70 MM CLASS 10.9  DWG.002654

24.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

130 11607665 16-Sep-2016 CONZZ28499
SOCKET HEAD CAP SCREW    M36-4x130MM  ENTHREAD=90 MM (CLASS 

10.9)
8.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

131 11607923 16-Sep-2016 CONZZ28571 SELF TAPPING SCREW 5-6 MM. NO.7 1"(PAN HEAD PHILLIPS) 400.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

132 11608024 14-Sep-2016 CONZZ28993
PISTON SEAL MERKEL CP-OMK-MR(DIM.130x109x8.1 mm.)TYPE B-0152-

213.811(MAT.PTFE/BRONZE)
8.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

133 11608025 14-Sep-2016 CONZZ28994
PISTON GUIDE ELEMENT  ID=125 , OD=130 , W=15 MERKEL B9287-102-

564(MAT.PTFE)
31.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

134 11608026 14-Sep-2016 CONZZ28995
ROD SEAL DWG. MERKEL CP-OMS-MR(DIM.100x115.1x6.3 mm.) TYPE 0153-

178.455(MAT.PTFE/BRONZE)
8.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

135 11604054 16-Sep-2016 CONZZ29071 NYLON INSERT  LOCKNUT      M8-P=1.25  (STAINLESS) 140.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

136 11608031 16-Sep-2016 CONZZ29402 NUT M10-1.5 (STAINLESS) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

137 11608044 14-Sep-2016 CONZZ30069
BOLT HEX.HEAD M30-2x400MM END THREAD 110 MM. (CLASS 10.9)  FOR 

FANTUZZI NO.12-17
10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

138 11608050 14-Sep-2016 CONZZ30500 BOLT HEX.HEAD M20-2.5x60 mm.+SPRING WASHER+NUT (HOT DIP GALV.) 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

139 11608059 16-Sep-2016 CONZZ31291 HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 30 MM. 1.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

140 11608271 16-Sep-2016 CONZZ31339
CARBON STEEL PIPE #SMLS  DIA 5"" (OD=139.8x4.5 mm) L=6m. (JIS) 

(FOR GENERAL STRUCTURAL)
4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

141 11608215 16-Sep-2016 CONZZ31923 WIRE ROPE CLAMPS 3 MM.GALVANIZED STEEL ส าหรับโคมไฟ HIGH BAY 200.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

142 11608215 16-Sep-2016 CONZZ31924 WIRE ROPE SLING DIA. 2 MM. ส าหรับโคมไฟ HIGH BAY 200.00 Metres SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

143 11608257 16-Sep-2016 CONZZ31972 GREASE FITTING 45'  (SPEC SHORT)  THREAD 1/4"x19 BSP 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 26-Sep-2016

Page 5 of 5


